
Fluorescence Anisotropy Titration

• Scatchard Analysis
– Pick beginning

and end values
– Calculate v &

v/[L]

– Plot v/[L] vs v

[P] = 0.1 µM
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Scatchard Analysis

Slope = -0.27 ± 0.05
Intrcpt = 0.41 ± 0.04

Correlation Coefficient = -0.74

leads to

K = 0.27 ± 0.05 µM
n = 1.5
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Direct Fit Gives a Better Result

K = 1.35 ± 0.66 µM

   Abound = 0.312 ± 0.012
Aunbound = 0.087 ±!0.040

K = 0.27 ± 0.05 µM

  Abound = 0.28
Aunbound = 0.12
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[P] = 0.1 µM



Back to Scatchard

• Note that the “data” are different
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K = 1.35 ± 0.66 µM

Abound = 0.312 ± 0.012
Aunbound = 0.087 ±!0.040

K = 0.27 ± 0.05 µM

Abound = 0.28
Aunbound = 0.12
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Direct fit
K = 1.35 ± 0.66 µM

Abound = 0.312 ± 0.012
Aunbound = 0.087 ±!0.040

Unweighted fit
K = 0.57 ± 0.07 µM
n = 1.06
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Weighted fit
K = 0.75 ± 0.20 µM
n = 0.99

Fixed
Abound = 0.312
Aunbound = 0.087K = 1.0

Abound = 0.3
Aunbound = 0.1


